AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
Class : H.S.

Time: 2hours/SN¥ 3 Y T Full Marks / 3% w54 | (NG =91 ¢ (40+40+20)=100
General Studies

1. Who is known as the Father of Indian Space Programme?
TITOT NI SRR TP (P ST 2 / SRS IRIPH SI@AAR S (& 2@ 2

(A) C.V.Raman (B) Vikrama Sarabhai (C) A.P.J.Abdul Kalam (D) Satish Dhawan
fo.fe. a9 RER RIS @ T, ST PN ST QI
Fife. e RERIMIEICIEY QT SeT SN ESIREICHICH

2. First mobile phone conversation took place in India between ..................
TS (T P I WG (HTZET (IS FRHFAN (R ? / BRCO FLALT (NITLET PP B .o

(A) Jyoti Basu and Sukhram (B) Narasimha Rao and Sukhram
CeIfo 7] 1< RN A[eTo IR e I RN WSO
(IS <] @< A & AN TS @ A W&

(C) Ambika Soni and Narasimha Rao (D) None of these
ST (RIS AR e WSt B AT T2
S T @R T ASEH W& 2T (FRE

3. India’s first supercomputer is known as
OS] L pIT FTEEI 5 AT Tl TMH 2/ SIRCoF AN FA FEHI f<F 16T S 703 2

(A) SAGA (B) PARAM 8000 (C) EKA (D) PARAM YUVA
4. What is the name of India's National Aquatic Animal?
OS] SIS Goib AT AN T .o | | SRCS SO GeTbd AT T Zo ... |
(A) River Dolphin (B) Crocodile (C) Katla Fish (D) Green Frog
fare/ e weife TR / P S | FToe A” CTEEIHI (ST / FqeT e

5.  Where did the English first open their factories in the Eastern part of India?
B[S I S OITOT (TS A I Foi FRMReT 2/ BWEH 77 S0 (I AT I AT K ?
(A) Assam (B) Odisha (C) Bihar (D) Sikkim
EREWACIMIE] ofa faze / fe=im fofepar / fifeesr

6. Sati was declared illegal and punishable by....................
CPIET MR SALF (TSE S 7S o CArFel SafRet 2 / ST 2T (OAEA S TSAH AT CTIN BE o |
(A) Lord William Bentinck (B) Lord Ripon (C) Lord Canning (D) Lord Dalhousy
G TReT (@58 G faoiel / =16 faiofel G (R G (TETRITH! / 716 GRS

7. Who gave the epithet "Father of the Nation" to Mahatma Gandhi ?
(I 2 NRIY A rifieq el Jfer Teaiam SR 2 / (< LT TR SR S ol &N Tk e 2
(A) Subhas Chandra Bose (B) Rabindra Nath Tagore (C) Bal Gangadhar Tilak (D) Jawaharlal Nehru
o v 7] T L 1P T oI e SR (R




8. Mangal Pandey was asepoy at ......................

T NS ..o CHAMER (A SIfReT |/ 5561 2ATCS ..o Gq T R |
(A) 34th Bengal Native Infantry (B) Madras Light Cavalry

34 (51 A “mifos iRt WISt 37186 SHIEIRT AT / JWIST 37725 SHIIRT AIfT
(C) 5th Royal Gurkha Rifle (D) None of these

faSI=

35 T ¢onl ez QU2 / 35 @ ol Qg qifEAl b8 7Y / 9IS T

9. First Chief Justice of Indiawas....................
OISR AL 1 RIS (P SAfet 2 / ORIod AW 72 KERHS ........e |

(A) Patanjali Sastri (B) HJKania (C) SR Das (D) Chand Mahajan
SRoge! =& QZb (ST I Qg S W [ @F AT 5 RIS

10. Right to Information Act in India applies to all states and Union Territories except
.................... ST AMRE SRR I ST A (RS F2peTo W= SN 2 ARG 2 |

ISIG(SE] ST 2ITT IR I ST 8 (P #1026 O SN SN2 26T 23 |

(A) Jammu and Kashmir (B) Nagaland (C) Goa (D) Sikkim

T I SR/ T @< SR BRI CoIIl/ oIl fof<par / fifeewr
11. The state tree of Tripurais ..........ccceeee....

T qifen< o 5 2

e wifen< ozl < 2

(A) Mango (B) Teak (C) Agar (D) Jackfruit

T ®RT | (TeT SRETACIRES T | IO

12. Iltalian Foreign Minister Giulio Terzi resigned over his government's decision for ........

AR @ERIF Ta @3fere bifet 5991 (I Praies [Raifire 3§ smonst SR ........... |

R RomNEl @gfens it smesiel FE ............. 9T Ty |
(A) Return of two Marines to India. (B) Differences with the Prime Minister

& (TCTIN SRS LS9 MG (MCIIN S0 erofiof Y[« &I o151 NIy / LI W@ AR AT
(C) Corruption charges (D) Sex Scandal

e (IRl / RS (ET=El T CPEIIS / (T TR

13. Who holds the record for the highest number of National Film Awards with 32 wins in various categories ?

G4 (FIe e e Rree 32 914 B 2[R #7e S{ wfera R Ffeg 2
s (I e [fon Ko 32 7 TBF 7= #lo E fOET R S 2

(A) Satyajit Ray (B) Gobind Nihalani (C) Guru Dutt (D) Raj Kapoor
STeféTe T conifem fvetieit SIS et Pl
Toffere A confm foreTiat GTNS et P9
14. First Indian movie nominated for Oscar .............
SR 619 REHI M TS S 2L OO QTR D ..o |/ SRS R S VNS I 2L OO B ...
(A) The Guide (B) Mother India (C) Madhumati (D) Amrapali

ERIEY RIS R RN SIERCR EEESH P



15.

16.

17.

18.

19.

20.

Which one is the oldest football club in India ?

OIS HBIZSCP A PO FIADBT T .o |/ G0N AIBIRCS LN TOHITT P ..o |

(A) Mohun Bagan (B) East Bengal (C) Mohammedan SC (D) Mahindra United
(IR 1T 28 (201 / B (I RO bt fewl FTNIRGT

The territory of Porus who offered strong resistance to Alexander was situated between the rivers of

TR 26 Y] w3l [ #1370 eI ........... I Nrers oS ifeeT |

IETFCSTSINE AL (ST 2P #MTO LT ... TS N SRES 7 |

(A) Sutlej and Beas (B) Jhelum and Chenab (C) Raviand Chenab (D) Ganga and Yamuna
BoETS SI<E et T S (I < S B ST A1 T
TorETer @ AP R @ o ERECKATIN 5157 @ T

Which number replaces the question mark?

w1 fagers fral emi@i fbe o1%e 5 3141 °7 2 / fagwem e s e & ikl =@ 2

4 1 2
7 9 1 4 6 5

(A) 6 (B) 9 (C) 8 (D) 12

Tanya is older than Eric. Cliff is older than Tanya. Eric is older than CIiff. If the first two statements are true, the third

statement is
ST @fReets oo | e oifretse o | @i S freets oo | I 212 5 61T 9T 2 (96T PO TG (B e
Sl @< (A0 TG | 5T SN T | @S IR 5% (3 0| I AL 46 T ¥% %, OF GO TG o

(A) true (B) False (C) uncertain (D) not sure

<k Sal RIRIRS I FRIET / TS A1
The hazards of radiation belts include
COEH R 27O RIT RAT TR oo |/ o fRIPae 26T RSN AT AR oo |
(A) deterioration of electronic circuits (B) damage of solar cells of spacecraft

RGRo TET ST / (o TEI S TRIPT T CTICPI R | NI T CTIACPICET L8
(C) adverse effect on living organisms (D) All of these

G TrTeq @919 26T 2o / G Treltod Toe aif ot ae AGIREPED! / AP
Gilt-edged market means .....................
To/e5-Gone 6T WIET |
Poreb-aere ST W
(A) bullion market (B) market of government securities

COTIT-4< <&/ G- eI HIPI<T Afogfe TR / FPE! aifvefs e

(C) market of guns (D) market of pure metals



(A) can be donated to individuals of Group AB

AB 2F91 5 wie g <1< / AB sFeoie i aie <09 117
(B) can be donated to Group B individuals

B 2591 3l i w1 #iifq / B skeoiz et wiw =00 A
(C) contains Group B antigens on the surface

@TIES & ST @90 B af6e =9 I / *TIR® & Fepls Toid B Qi orst 9= T
(D) can always be donated to an Rh+ individual of red blood cells

Rh+ 5fess s wie g <iif< / Rh+ e 191 wiv s<ce iif

22. The software used to drive micro-processor-based systems is called:

WIEG-2569 & HET 55T TR T BTOER o T |
MEF-ACPI J& FIEET HET00 TR P GGG ..o Rl
(A) Assembly language programs (B) firmware
QUFE! (FREEST A2V / ACTHA! (F1RESTST A2 FICET / FCER
(C) BASIC interpreter instructions (D) flowchart instructions
@b STRMRAG 2ERD / ([APTRP SHRIGR EE T IS ETPTD / o1 BT

23. Statement : Should India encourage exports, when most things are insufficient for internal use itself?
el 3 e bifRwl S[<eIce RSl 379R A AN S, (ofox] SIRTFR ISHIS TR IR 8w ¢ 2
Rl ¢ SR bIfRAl S[Fe TR (TR 5l AN TS, T SRS TLIF AR (1S Tfpw ?
Arguments:
ozt
() Yes:We have to earn foreign exchange to pay for our imports.

31 ISy ST o sifeAa <SR (e R g SR A |

1~ SISO S A SR S5 QA IR SIS S0 s |
(I No: Even selective encouragement would lead to shortages.

T2 S S 7y Geoiig s T A6 %2 R |

- @w=i oy &R Teotir @ wreiq @ e |

(A) Only argument | is strong (B) Only argument Il is strong
W@ | 72 Fiew 3T / Wig | 78 e e 1@ 1| 5 G T / 7@ ] 78 &2 71T
(C) Eitherlorllis strong (D) Neither I nor Il is strong
| 51 e |1 978 Jfies 37T / | =12 @< 1| 712 g 57T | 12T 11 Gbre e e = / | 41 1| @Fibre Jfes e 7

(E) Bothland Il are strong
| 51 1 |1 98 G 79T /171 G=e 11 712 e i<e




24. What is the code name given to the collective international action under UN authority to protect the Libyan people

25.

26.

27.

28.

29.

30.

against Muammar Gaddafi's forces?
ToTfrTe S SAIIRel Y SR 7e0y MR 191 T G I FHS SR Ao S Al pho w1 6 =nifee 2
ToT T STl S SR ST JMRA JNS (I T G AR Qg Ffero SfeAies Arios I <6 foed 2

(A) Operation Ortsac (B) Operation Trident

A SHEIE /| AT SGAE A FIR0GG | SAIE FIE0e5
(C) Operation Swift Strike (D) Operation Odyssey Dawn

TN HRI0 G2 | AT HETE SHZP AT SR T / S @ e T

What is the name of the pilot project launched by former President Pratibha Patil which aims to empower women in
rural areas through telecom services?

COIeT<rs (TR BT AT WA TR A 2w geifs eife AT Sl 51 S<[TReTe 2w W < wifee 2
COTerr G BT Tl RN AP Ty 2TG= G aifoe #forE St 1 S AETs 2w T <6 e 2

(A) Indira Awaz (B) Awaz Uthao (C) Sanchar Shakti (D) Soochna Shakti
&) SRS/l SISAST KIS Gole /GG Bole el *ifi /e *ife 51 =i 575 =i

Which of the following is an indirect tax?
TR (IR 2@ 9 2/ N (I 2/ 9 2
(A) Wealth tax (B) Corporation tax (C) Excise duty (D) Capital gains tax
STife 9 / ife 1 [ERERSWACREE | TR 9T YA | TR

Which of the following state won the best state Award for strengthening the Panchayati Raj institutions..?
T (IR T2 S LBITOIIET =G I AT LN 2RI AR 7 / (I S A RTSIST =G I Ty LI 2RI A1 2
(A) Bihar (B) Kerala (C) Sikkim (D) Rajasthan

faze / feze CRCEEI | (PR o<y / Bifes qrerE / ArerE

Who was the author of the famous storybook 'Alice's Adventures in Wonderland'?

'Alice’s Adventures in Wonderland' 3 o133 &= 2 / 'Alice’s Adventures in Wonderland' @3 (=13 ?

(A) Rudyard Kipling (B) John Keats (C) Lewis Carroll (D) HG Wells

PO [FoAfe1/2FTANG <poiferg S [RPO5/G P63 feTSb (<=T/foT8o (e «3p &1 SEeTs/92b & QuerT

Recently a parallel body of the Assam Sahitya Sabha was formed as Assam Sahitya Sanmiloni. Who is the President of it ?
TEARITS BTN AR SR AN, S AZ; AN AR A Aff S Ty (207 | 2 @194 (i 2
RIS T ST ST TSR TG ST L) AT A G TBIET & 27| 224 FTe1oifs (F 2

(A) Homen Bargohain (B) Hiren Gohain (C) Imran Shah (D) Rang Bong Terang
(I IR 8@ (=R EUISE Y TR (SR
QCOIENRIET @ =2 ECRIERIE TR IR

To open a new individual savings account in a Bank which of the following documents is not accepted as individual
Investor's Proof of Identity under KYC norms:

KY C i i@l 5fiessis 37263 fRbisl YeraeeT, (R0 (I eimiel 2fa<s qifesio 267 SRS AfRBAT A 9= 7 |

KYC et St qfiersre 37263 231 Yoo (185 (P NI Giessio Heapiae 2 vy ReTE sz w6 71 2

(A) Photo PAN Card (B) Driving License (C) Passport copy (D) school certificate



31.

32.

33.

34.

35.

36.

37.

The concept of five year plans in India was introduced by

OS] %128 M AP 51 (P PRI 2 / SRS 2P SARTFHAR FpeAl FE ...

(A) Lord Mountbatten (B) Jawaharlal Nehru (C) Indira Gandhi (D) Lal Bahadur Shastri
TG NGHECGT SRR e (2 BRI oTIeT RIS *TE
TG WAGHEEGT R (RS B s 1o IR XIE

Who wrote the book "What young India wants" ?

"What young India wants" T fo13= (19 2 / "What young India wants" @3 (133 (& ?

(A) Arindam Choudhury  (B) Shobha Dey (C) Chetan Bhagat (D) Arnab Goswami

i (HIYRT /s oy el (o ©5TS e G

Habeas corpus writ is associated with
Habeas corpus @ SR« (=1) SIwe 529 =151w &ifow ? / Habeas corpus (I So#iEI9 (+1) W@ e AR Siibw 2
(A) Anticipatory bail (B) quashing the order of an administrative authority

ey S / wifers e CRIET AT Se TSt 1/ (PI ITie Siiee! Qifser w1
(C) An order of freedom of speech (D) production of person before the court

1 FRITOI S0 / T FHATOR O™ Y& TS RIS TR/ ST TR RIS w41
Find the odd pair out,
TR (I 1o Sfeneat ¢ / Remp! (BreT (0= (79 9 ¢
(A) Dheer beel : Dhubri district (B) Khamrenga beel : kamrup (M)

<o ¢ 491 et ! T ¢ BN TR

grafet ¢ g9 o PN T ¢ NN AR (CICT)
(C) Tamranga beel : Bongaigaon district (D) Mer beel : Jorhat district

oElel et - qeiene féweT e et 3 eRiG fere

LRI REC IS MERICR 0| o3 et ¢ R=lG e
The National Park of Assam where the rare white-winged duck (Deohans) is found is ..............
CPITIA ST B THIIAS o=y <511 219 (TSRIR CoIIRT AR 2/ SRR (P FE SWIET KeTS HAMI (1=K 27T ((rG=PT) G T 2
(A) Nameri (B) Dibru Saikhowa (C) Manas (D) Orang

IRT / I oz bl / T G SR/ S R INWACEIN

Pacemaker is implanted in heart when one of the following is defective
o T SPINET =T IS (ofb IR B 1 =F 2 / [OS (PIG @65 RET TAPIES CoPTEIPIR Fo 1 = 2
(A) SAnode (B) AV node (C) Purkinje fibre (D) Bundle of His

The Mediterranean lands are often called the world's-
G AT LT AT o BRI E VAT R | ET SRS R EC o — TS ST A |
(A) Grazing lands (B) Forest lands (C) Orchard lands (D) Paddy lands
IR O[5 / 2IQbe Spe]  JwIET -3 T LI S1265 / LIy ST



38.

39.

40

41.

42.

What is the major role of a greenhouse gas that contributes to temperature rise of the Earth's surface?
SRR o Tawel I COTOE 9% (5129 2SR 3 2 / SR goyEn Tl Jfecs TS 9% NG 2o & 2
(A) Stops both incoming sunlight and outgoing infrared radiation

T IR SRS e SRS [ Gefs e iy e |/ 37 9] SeTe @98 S[eE
(B) Transparent to both incoming sunlight and outgoing infrared radiation

[ R AZTS -IRETIRS R (IS e <t Fiwe |/ s SR weies 91 S=<eEiRe [ (@0 (@i <0 ol
(C) Lets incoming sunlight pass through but stops outgoing infrared radiation

[ 9 iR e feg sieeeize fRifse crrare < |/ sjct i wiee o g eReETiRe RKiege e e o |
(D) Lets outgoing infrared radiation pass through but stops incoming sunlight

SRR [ieges Tefs Qe il i g s s er=re i e |

TREAIRS RIFNE BT (0 A1 ¢ 1 {6 < AR Seies 11 e |

o~ o

2w [P 56T (0o 141 e |

Irfan Khan has bagged the best actor award in the National film award 2013 for his lead role in the film" Paan Singh
Tomar". Who was the Director of the Film ?
“sffey 312 cora”” oS 327 5@ wifeTx 41 29 e 2013 557 BN ey I619 AR (X1 SSEOR S[7= SA120z | Hrma
e (e iifRe 2
“Sff7 B1 core =fee 325 bfica Sifom w1 & I 2013 6 FE bellvd oRIEs (<17 SfSEelR sw@e o | 2f}fibw Fimiw @ 2
(A) Tigmanshu Dhulia (B) Vikram Gokhale (C) Anurag Basu (D) Sanjay Leela Bansali

TowTest Geira @ o= SIS /I T3] TG ST LLIE/AGT ST A

The Prime Minister of India, at the time of his/ her appointment ..................
SIS 2 W& TG A (OF ..o WASIEISE IS ISR ISR T (Ko B DT C — |
(A) need not necessarily be a member of one of the Houses of the Parliament but must become a member of one of
the Houses within six months
(I @ FUNE 0T (RN e 1=, F6F 1P 212 FO0q© & (I T ST (RIICO! TR
(I Gl FHET FWoT REF bl 7, (g eI RANCH [0 (7 (I AL >0 RSN ISR
(B) need not necessarily be a member of one of the Houses of the Parliament but must become a member of the
Lok Sabha within six months
(I G T T R G| 7=, (Y ORI 2R [T TIFTOR T (RIRICE! LET
(I @Bf FCT T RGN S<el 717, g Ao NEH fowd GO 70 R ALOTF
(C) must be a member of one of the Houses of the parliament
TR CPICAT S FT5 (RIICE! TSI / (I (I TGN >0 RS AL
(D) must be a member of the Lok Sabha
(TIPSR AT (RRICET AL / FTIFASE >0 RGN TS [T

| would ratheryou ........................... by train.
(A) go (B) went (C) would go (D) had better go

You, he and I will have a party tonight.
(A) |,youandhe (B) He, landyou (C) I, he andyou (D) The given sentence is correct.



43. The police ............ to solve the mystery.

(A) istrying (B) aretrying (C) has been trying (D) has tried
44. The teaching of Muhammad, the prophet brought ------------- social enlightenment among the Muslims.
(A) about (B) into (C) over (D) with
45. Summerhas ...................... and the days are getting warm.
(A) setout (B) set off (C) setup (D) setin
46. All employees are kindly requested to ....... from smoking in the presence of customers.
(A) stop (B) restrain (C) refrain (D) restrict
47. Hewould not ..................e the details but hinted that he knew who the murderer was.
(A) say (B) tell (C) divulge (D) reveal
48. Neverput................... till tomorrow what you can do today.
(A) Down (B) out (C) in (D) off
49. | look forward you again.
(A) to meet (B) to meeting (C) for meeting (D) at meeting
50. It's time we some employment for ourselves.
(A) find. (B) have found. (C) must find. (D) found
51. Use your commonsense , ------------------ ?
(A) willyou ? (B) won'tyou ? (C) can'tyou? (D) don'tyou ?

52. A coterie iS ----------m-----
(A) Acircle or set of persons having exclusive interests. (B) A group of common women
(C) Gathering of spectators (D) Herd of deer

53. A Confidant is ---------mmmn-
(A) Confident (B) Sure (C) Trusted with secrets (D) Definite

If the following sentence is changed to active voice it will read like :
54. " The captive was bound to a tree"
(A) They bind the captive to a tree. (B) They bind the captive on a tree.
(C) They bound the captive to a tree. (D) They were binding the captive to a tree.

55. " Iwas asked my name".
(A) They asked my name (B) They asked me my name.
(C) My name asked by | (D) My name was asked by somebody.

If the following sentence is changed to passive voice it will read like :
56. "We expect good news."
(A) Good news is expected (B) Good news are expected



57. " I will have finished the work by tomorrow".
(A) This work will be finished by tomorrow (B) This work will have been finished tomorrow.
(C) This work will have been finished by tomorrow. (D) This work shall be finished tomorrow.

If the following sentence is changed to indirect narration, it will read like :

58. " He said to her, " Don't read so fast."
(A) He requested her not to read so fast. (B) He ordered her not to read so fast.
(C) He told her not to read so fast. (D) He advised her don't read so fast.

If the following sentence is changed to direct narration, it will read like :

59. "He said that he would not have to write that essay."
(A) He said, " | needn't write this essay". (B) He said, " I should not write this essay".
(C) He said, " I don't have to write this essay". (D) He said, | must not write this essay".

60. Pick out the correct sentence:

(A) This is a news to me (B) This is a news from me
(C) This is news to me (D) This is news by me.

61. (A) You must revise your answer sheet again. (B) You should revise your answer sheet again.
(C) You ought to revise your answer sheet again. (D) You must revise your answer sheet.

Choose the word that is most nearly the same in meaning as the word printed on top of each question below :
62. TRANSIENT

(A) lasting (B) enduring (C) fleeting (D) immortal
63. TACITURN
(A) extrovert (B) garrulous (C) loquacious (D) reticent

64. STALEMATE

(A) compromise (B) deadlock (C) dilemma (D) settlement
65. ASTUTE
(A) shrewd (B) unwise (C) dishonest (D) inexplicable

Choose the word that is opposite in meaning to the word printed on top of each question below :
66. PERPETUAL
(A) Continuous (B) Irregular (C) Durable (D) Instantaneous

67. STARTLED

(A) Amused (B) Astonished (C) Relaxed (D) Pleased.
68. MYOPIC
(A) Intelligent (B) Farsighted (C) Blind (D) Selfish

Find the odd one from among the following choices :
69. (A) chick (B) puppy (C) calf (D) pony

70. (A) hat (B) helmet (C) turban (D) veil



71. The likeness or representation of a person, made of cardboard, straw etc is :
(A) Statue (B) replica (C) effigy (D) portrait.

72. One who makes and sells cushions and covers for chairs, motor-car seats is called
(A) cushioner (B) haberdasher (C) upholster (D) huckster

73. One who runs away from justice or the law is called a :
(A) fugitive (B) bohemian (C) platonic (D) epicure

Substitute the underlined phrase by a suitable word from among the given choices in the following two sentences.
74. The study of insects was a most fascinating pursuit for him.
(A) anthropology (B) zoology (C) etymology (D) entomology

75. Pt. Jawaharlal Nehru, like Dr Radhakrishnan, was a great lover of books.
(A) literate (B) bibliophile (C) bookworm (D) librarian.

76. 'Face'is related to 'Expression’ in the same way as 'Hand' is related to :
(A) handshake (B) waving (C) work (D) gesture

77. Sports is related to 'Logo’ in the same way as 'Nation' is related to :
(A) anthem (B) emblem (C) icon (D) flag

78. Marathon is related to Race in the same way as Hibernation is related to :
(A) winter (B) sleep (C) dream (D) reproduction

In the following two questions four words are given out of which three are same in one way and one is different from the
others. Select the odd one.

79. (A) green (B) violet (C) brown (D) yellow

80. (A) artery (B) aurum (C) auricle (D) aorta

Aptitude & Reasoning

81. The total of the ages of Amar, Akbar and Anthony is 80 years. What was the total of their ages three years ago?
S, SR S G 2 70T 80 T2 | oy 2 risice Frgex o 7w e wiifeet 2
IS, WP 9 QTG (NG T 80 9= | fo =K el @ (NG 3T fed 2
(A) 71 vyears (B) 72 years (C) 74 years (D) 77 years
71929 / =g 72929 | =g 74 929 | =g 77929 | =l

82. Pointing to a photograph of a boy Suresh said, "He is the son of the only son of my mother." How is Suresh related to
that boy ?
7' TSR ! (T SGIeTAIR it See T, 37 (N N9 GhN@ o719 GG o7 | &K T MBI 3770 790 <5 2
Qb (T T W MGt e el T 7 AWK N GFN@ (T GG (6T |7 [ (REBR AE <5 2
(A) Brother (B) Uncle (C) Cousin (D) Father




83. Flow: River: Stagnant:

oRIRS ¢ Tl 3 B 3
(A) Rain (B) Stream (C) Pool (D) Canal
<l / IR foyert / =ell ST / e Tl / A

84. The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the
pie-chart and the answer the questions based on it.

TS ! S12 B2 @ 2 LB LB OIS (TIRCZ | #{12 THach! Szl S« iz Teq e |
o Q6 21T PN A #1218 Hrad a=l (I 291 | I8 @i’ SIr3el T e 71 |
Cost

Promotion Cos
109%
Printing Cost 10%

Rovalty i
15% -

Transportation

Binding

20%

If for a certain quantity of books, the publisher has to pay Rs. 30,600 as printing cost, then what will be amount of
royalty to be paid for these books?

T 5y 3125 fFoioie A 2B 30,600 2911 A6 B, (O [FO19 e (royalty) e 21 501 < 2

Tt f5g 14 T2 T 2T 30,600 G A FE, O IREH T G 0 BIp] e 2

(A) ¥19,450 (B) ¥21,200 (C) ¥22,950 (D) ¥26,150

85. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The sum is:
T aft Je1 Fof 29 e o 815 51 < bIfS T2I© 845 Gbl (T o4 Sff<ayiel fpafrey 2
T G U 7 TRE T 815 GBI @< b1 IRES 84551 T AL AR F© 2
(A) ¥650 (B) ¥690 (C) ¥698 (D) ¥ 700

86. 39 persons can repair a road in 12 days, working 5 hours a day. In how many days will 30 persons, working 6 hours
a day, complete the work?
39 & IR (< 5 BiCs P (N 12 et @fls 12 G 561 | 7w 30 & MR =<6 6 IH1T FIN B (9 I 170 I
S]] B 2
39 & (&1 (i 5 <61 16t e 12 e @i 219 (1o e | AU 30 & (16 (i< 6 I01 B TSt FC, O PO ey
Py A7)l = 2
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88.

89.

90.

91.

A bear In Greenland walks south for one kilometer, then It walks west for one kilometer, then It walks north for one
kilometer and ends up at the same point from which it started. What color was the bear?

Q51 ST AeETS© wf3eiteT @b fpeeTl W I Piee @b eI sifeatet o' | =i et @ eI @R forge =i
R RS B CIESICRG IS G ERTC PL

Qb Ol AeleeTes wiEpelnce @ FETNER (oet, O AFRoume @ RFETRGR o, W Tedfcs G RETfee T«
(I 3 1 FIE GO 77 | O <2 < feet 2

(A) grey (B) black (C) white (D) Blue
CHII T/ T N/ P BRI e/ e

Find the odd man out... 6,9, 15, 21, 24, 28, 30

Sfercs! A1fb Sfere ¢ 6, 9, 15, 21, 24, 28,30 / wIfNeilh @@ A8 ¢ 6, 9, 15, 21, 24, 28, 30

(A) 28 (B) 21 (C) 24 (D) 30

Choose the appropriate answer to complete the following sentence:

T RBPIIST 7o)l HIReT Soige W= e Sfere ¢ / Mo AHH ;75 00 T == (0= 718 ¢

Medicine is to iliness as law is to

(A) Discipline (B) Anarchy (C) Treason (D) Etiquette
SIERISRICONABERICHIOS) EREECFACHIISEC] TRl IRESFAREIES

Larry's father has five sons, viz. Ten, Twenty, Thirty, Forty... Guess what would be the name of the fifth?

@RI (TOOIRT A B o1 4l WifgeT | @&@a T Ten, Twenty, Thirty, SF @& I Forty 20 2120w 719 5 2

@97 oo sinf (=T e @@ W @& Ten, Twenty, Thirty, 8 Forty 26T 2{265{5% <15 5 2@ 2

(A) Fifty, (B) Sixty (C) Seventy (D) None of these
Qb8 R/ GFH8 7

You have a cup placed on a table. You are sitting facing the North and the cup is facing towards the South. On which
side is the cup's handle?
(53T @ty 51 M0z | 9 i Teq s 1Rl S1<F FIoIE! 7f35el 1o Itz | (O P10 (R8T (I fxre =iieg 2
Ofv @ofb 51 GRIET T | O Tl Tew e <t =il el e 0P, OIRET FIT (REweT (1 e A 2
(A) North (B) west (C) inner side (D) outer side
Teq / Ted {55 fowe ieT/foews e qIfeq et / e e

92.(l) Police resorted to lathi-charge to disperse the unlawful gathering of large number of people.

ST TS fEEe T vfae @R Rmie Sole sawsl e =101 brgt e |

s{fer T 2GS O GFfae e KHIeT Trole Zaes F0o FIMIBE FEMR |
(I The citizens' forum called a general strike in protest against the police atrocities.

I W28 S{{Tb1 TSI RFrm LR LGo SR ffeeT |

FIsIf-2e o{feTeT SONbIET et (BT SR (7 |
(A) Statement | is the cause and statement Il is its effect.

SN TG Be I A 3T TG B ARG / 5T @7 =o1 P @R 27 7€) 2 A0 |
(B) Statement Il is the cause and statement | is its effect.

R T TG I IE $H TG 27 AREARS / 27 T TG P @R ¥ ey 820 ARl
(C) Both the statements | and Il are independent causes.

SN I X3 YIB! T ™I (@19l / SN A< 27 1fb TSR 7o ST |
(D) Both the statements | and Il are effects of independent causes.

SN I T MEIBIR el (T8 PR AAES / 57 W1 231 {62 37w Wil SRR sfeife
(E) Both the statements | and Il are effects of some common cause.




93.

94.

95.

96.

97.

98.

Marathon is to race as hibernation is to
I TR AT H CF A ... T/ AW AT T MG O@ O R ..o |
(A) winter (B) bear (C) dream (D) sleep
Arewie] Sloid A | = Tt
Which word does NOT belong with the others?
T (FIWCHT HIETl *2n 3 / SIfeT *=n (07 WS ¢
(A) tire (B) steering wheel (C) engine (D) car
T R/ 1 26T Zaifee 21 / Sornfae =% e W59 ST / W6F ST
Which number will replace the question mark ?
SPILS o 918w JfRwToll SFeIch! 5 2 ) 2micaisd ooz i >4 Qk o O
/\C@ (J\rk
© @
(A) 75 (B) 26 (C) 25 (D) 20
In the following question which one of the Answer Figure should come after the Problem Figure if the series is continued ?
et Wl 37T Fo@(h! @I 012 o' OeF baq (PIFG! SToml has ¢ a5 2
T @SN DG THFR @ (oI Ted H6@d (i @ e et B 1@ 2
Problem Figures (3771 foa) Answer Figures (€< fo@ / Te< @)

=253

<—> <>

=30

<> |<—>

There were two candidates in an election, 10% of the voters didlnot vote, 60 votes were declared invalid. The elected
candidate got 308 votes more than his opponent. If the elected candidate got 47% of the total votes, how many votes
did each candidate get ?
7 TR eifoafErel 51 @bl b 10% COIbIE COIBITRPR TS w1 F1E, 1< 60 51 ¢oI6 SIClely et caraell <1 =3 | <erdl ey
RS endfrets 308 b1 (oib &R < | 3ft Rerd endfietet (1o ¢Si67 47% CSib I (o0 @lfém i o12eifs e colb sir2fes 2
& STy elforizel 1 @fb N5 10% OB CobTRR HARE S =1 @2 60 & CSIb SISl e Crell <11 27 | fers
2o &ie 212 (A 308 & colb <l #i17 | 7l ert 21 (G COIER 47% =I1¥, O qew 21 eweifo Foft (ot i 2
(A) 2316,2012 (B) 2629, 2324 (C) 2871, 2575 (D) 2914, 2606
If NUMERICAL is written as MVLFQJBBK, then how would ASTROLOGY be written in this code ?

T NUMERICAL *=7(6! MVLFQJBBK f25ite1 72121 23, (o8 ASTROLOGY #3461 fiwR et #ftr 2
I NUMERICAL *=4f6 MVLFQJBBK &A1& (=141 2%, & ASTROLOGY *=4fb PRSI ferace #i1fF 2
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99. A, B, C, D, E and F are sitting in a row facing North. A is neighbour of B and D. E is the neighbour of C and F. D is the
neighbour of C. How many members are there between A and E ?
A, B, C, D, E It F @51 *(1<T® Se<uics iR =icz | A (=@ B =< D ¥ eife®ii | E 2z C o F < elfor@i | D=tz C
AR | A SIE E T J6ro ] WM< 321 e |
A, B, C, D, E @<t F asfb *iiflice Texfue ¥ e 901 Witz | A =91 B @ D @7 &lforel, E 251 C 8@ F @F &lf o, D 21 C @x
2f o™ | A @38 E @3 W& APl 3Ty 3181 9 2

(A) 1 (B) 2 (C) 3 (D) 4

100. All the six members of a family A,B,C,D,E & F are travelling together. B is the son of C but C is not the mother of B.
A & C are a married couple. E is the brpther of C. D is the daughter of A. F is the brother of B. How many male
members are there in the family ?

@1 IHIET T o @ A,B,C,D,E 1< F G Graeieol PR (5@ | B 27 C 1 2j00% g 'C' BI W9 ~=H | A <I<e C &35 |
Etxz CI9Elb| 'D'AISIES | F 202 BT ORD | (o ARG e 27 ST =g ?

@b SARRIGE 27 3o @& A,B,C,D,E 8 F @3 g51e W | B =1 C @3 (21 55 'C' @ M1 B 731 A'¢ C HI-J |

E =1 C dg ©i2| 'D' 251 AGS 11 | F =97 B @ ©I2 | #IfISio0e Foem s{sd 57 9 ?

A) 1 (B) 2 (©) 3 (D) 4
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